CITY OF ORLANDO SEALED BID TABULATION JEB17-0133 2017 2:00 p.m.

Vendor's Name					Jordan Brothers Construction, LLC Orlando, FL		Prime Construction Group, Inc. Orlando, FL	
Vendor's City & State:								
Item	Description	Item #	Qty	Unit	Unit Price	Total	Unit Price	Total
1	Mobilization, Demobilization, Bonds and Permits	SS1	1	LS	\$240,000.00	\$240,000.00	\$135,000.00	\$135,000.00
2	Indemnification	SS2	1	LS	\$100.00	\$100.00	\$100.00	\$100.00
3	Orange County Right of Way Utilization Permit	SS3	1	AL	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00
4	Field Engineering, Survey and Controls	SS4	1	LS	\$18,500.00	\$18,500.00	\$25,000.00	\$25,000.00
5	Project As-Built Survey	SS5	1	LS	\$3,987.79	\$3,987.79	\$30,000.00	\$30,000.00
6	Preconstruction Audio/Visual Documentation and Construction				¥ - ,	, , , , , , ,	+ /	+,
	Photographs	SS6	1	LS	\$1,350.88	\$1,350.88	\$5,000.00	\$5,000.00
7	Maintenance of Traffic	SS7	1	LS	\$125,000.00	\$125,000.00	\$248,000.00	\$248,000.00
8	Utility Support and/or Protect	SS8	1	LS	\$37,824.57	\$37,824.57	\$100,000.00	\$100,000.00
9	By-Pass Pumping	SS9	1	LS	\$150,000.00	\$150,000.00	\$210,000.00	\$210,000.00
10	Mechanical Tuberculation/Mineral Cleaning 12" Sewer Main	SS10	485	LF	\$27.02	\$13,104.70	\$27.20	\$13,192.00
11	Sanitary Sewer Main Point Repair Existing 12" VCP (14 ft. deep) If required	SS11	20	LF	\$162.11	\$3,242.20	\$3,200.00	\$64,000.00
12	CIPP Lining Existing 12" Gravity Sewer Main	SS12	485	LF	\$67.07	\$32,528.95	\$100.00	\$48,500.00
13	Brim Type CIPP Lateral Liner	SS12 SS13	1	EA	\$5,403.51	\$5,403.51	\$6,500.00	\$6,500.00
14	Seal and Epoxy Coat Existing Manhole	SS14	33	EA	\$6,484.21	\$213,978.93	\$250.00	\$8,250.00
15	Removal of Existing Gravity Sewer Main	SS15	2,715	LF	\$46.00	\$124,890.00	\$15.00	\$40,725.00
16	Abandon in Place Existing 12" Gravity Sewer Main	SS16	880	LF	\$10.81	\$9,512.80	\$12.00	\$10,560.00
17	Remove and Replace Existing 12" Force Main(To include Manhole connections)	SS17	1	LS	\$5,577.30	\$5,577.30	\$10,500.00	\$10,500.00
18	8" PVC SDR26 Gravity Sanitary Sewer Main (6-8 ft) To include Pipe & Manhole Connections	SS18	45	LF	\$114.36	\$5,146.20	\$120.00	\$5,400.00
19	8" PVC SDR26 Gravity Sanitary Sewer Main (8-10 ft) To include Pipe & Manhole Connections	SS19	90	LF	\$120.00	\$10,800.00	\$165.00	\$14,850.00
20	8" PVC SDR26 Gravity Sanitary Sewer Main (10-12 ft) To include Pipe & Manhole Connections	SS20	45	LF	\$125.00	\$5,625.00	\$210.00	\$9,450.00
21	10" PVC SDR26 Gravity Sanitary Sewer Main (14-16 ft) To include Pipe & Manhole Connections	SS21	30	LF	\$164.19	\$4,925.70	\$225.00	\$6,750.00
22	12" PVC SDR26 Gravity Sanitary Sewer Main (12-14 ft) To include Pipe & Manhole Connections	SS22	58	LF	\$140.00	\$8,120.00	\$210.00	\$12,180.00
23	24" PVC SDR26 Gravity Sanitary Sewer Main (14-16 ft) To include Pipe & Manhole connections	SS23	10	LF	\$441.02	\$4,410.20	\$250.00	\$2,500.00
24	8" PVC Gravity Sanitary Sewer Main (6-8 ft) (Parramore @ Gore)	SS24	50	LF	\$107.82	\$5,391.00	\$105.00	\$5,250.00
25	12" PVC Gravity Sanitary Sewer Main (12-14 ft) (Parramore @ Gore)	SS25	15	LF	\$140.00	\$2,100.00	\$250.00	\$3,750.00

CITY OF ORLANDO SEALED BID TABULATION

Purchasing Agent: Silvia Coste

Vendor's Name					Jordan Brothers Construction, LLC		Prime Construction Group, Inc.	
Vendo	r's City & State:				Orlando, FL		Orlando, FL	
26	18" PVC Gravity Sanitary Sewer Main (6-8 ft) To include Pipe & Manhole Connections	SS26	500	LF	\$101.44	\$50,720.00	\$150.00	\$75,000.00
27	18" PVC Gravity Sanitary Sewer Main (8-10 ft)	SS27	660	LF	\$105.00	\$69,300.00	\$170.00	\$112,200.00
28	18" PVC Gravity Sanitary Sewer Main (10-12 ft)	SS28	140	LF	\$110.00	\$15,400.00	\$210.00	\$29,400.00
29	21" PVC Gravity Sanitary Sewer Main (12-14 ft.)	SS29	1,020	LF	\$130.30	\$132,906.00	\$250.00	\$255,000.00
30	21" PVC Gravity Sanitary Sewer Main (14-16 ft.)	SS30	950	LF	\$135.00	\$128,250.00	\$275.00	\$261,250.00
31	4' Diameter Sanitary Manhole (0-6 ft.)	SS31	1	EΑ	\$6,615.89	\$6,615.89	\$9,500.00	\$9,500.00
32	4' Diameter Sanitary Manhole (8-10 ft.)	SS32	1	EA	\$7,038.42	\$7,038.42	\$10,500.00	\$10,500.00
33	4' Diameter Sanitary Manhole (10-12 ft.)	SS33	1	EA	\$7,840.64	\$7,840.64	\$11,500.00	\$11,500.00
34	4' Diameter Sanitary Manhole (12-14 ft.)	SS34	2	EA	\$8,000.00	\$16,000.00	\$11,750.00	\$23,500.00
35	4' Diameter Sanitary Manhole (14-16 ft.)	SS35	3	EA	\$8,208.06	\$24,624.18	\$13,750.00	\$41,250.00
36	5' Diameter Sanitary Manhole (8-10 ft.)	SS36	1	EΑ	\$24,866.90	\$24,866.90	\$14,500.00	\$14,500.00
37	5' Diameter Sanitary Manhole (12-14 ft.)	SS37	2	EA	\$25,479.27	\$50,958.54	\$18,000.00	\$36,000.00
38	5' Diameter Sanitary Manhole (14-16 ft)	SS38	1	EA	\$25,601.75	\$25,601.75	\$18,500.00	\$18,500.00
39	Install Inside Drop Connection	SS39	3	EA	\$1,960.72	\$5,882.16	\$4,000.00	\$12,000.00
40	Connection to Existing Manhole	SS40	3	EΑ	\$1,470.82	\$4,412.46	\$1,500.00	\$4,500.00
41	Abandon-in-Place Manhole	SS41	1	EA	\$1,470.82	\$1,470.82	\$2,400.00	\$2,400.00
42	Remove Existing Manhole	SS42	9	EΑ	\$2,524.50	\$22,720.50	\$2,900.00	\$26,100.00
43	6" PVC Gravity Sewer Lateral w/Cleanout (Pipe Burst)	SS43	17	EA	\$2,402.74	\$40,846.58	\$8,500.00	\$144,500.00
44	6" PVC Gravity Sewer Lateral w/Cleanout (Open Cut)	SS44	4	EA	\$7,213.96	\$28,855.84	\$3,500.00	\$14,000.00
45	Temporary Asphalt Removal and Replacement (Gore Street) Per OC Std Detail	SS45	3366	SY	\$55.00	\$185,130.00	\$60.00	\$201,960.00
46	Asphalt Removal and Replacement	SS46	1560	SY	\$65.83	\$102,694.80	\$60.00	\$93,600.00
47	Milling and Resurfacing Asphalt Pavement	SS47	7214	SY	\$14.00	\$100,996.00	\$20.00	\$144,280.00
48	Unsuitable Soil Removal, Disposal and Replacement	SS48	583	CY	\$70.04	\$40,833.32	\$55.00	\$32,065.00
49	Erosion and Sediment Control	SS49	1	LS	\$45,000.00	\$45,000.00	\$75,000.00	\$75,000.00
50	15" RCP Stormwater Removal and Replacement	SS50	100	LF	\$112.13	\$11,213.00	\$60.00	\$6,000.00
51	18" RCP Stormwater Removal and Replacement	SS51	20	LF	\$176.48	\$3,529.60	\$80.00	\$1,600.00
52	30" RCP Stormwater Removal and Replacement	SS52	20	LF	\$202.20	\$4,044.00	\$150.00	\$3,000.00
53	Pavement Striping and Traffic Signalization Loop	SS53	1	LS	\$41,332.74	\$41,332.74	\$65,828.00	\$65,828.00
54	Construct Public Sidewalk ADA Ramp (This line did not total on both							
	vendors responses)	SS54	1	EA	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
55	Concrete Sidewalk Removal and Replacement (4" Thick)	SS55	300	SY	\$100.00	\$30,000.00	\$60.00	\$18,000.00
56	Concrete Curb and Gutter Removal and Replacement	SS56	1,975	LF	\$32.90	\$64,977.50	\$40.00	\$79,000.00
Calcul	ated Total for Roadway (Items 1-58)					\$2,382,081.37		\$2,893,890.00

CITY OF ORLANDO SEALED BID TABULATION JEB17-0133 2017 2:00 p.m.

Purchasing Agent: Silvia Coste

Vendor's Name					Jordan Brothers Construction, LLC		Prime Construction Group, Inc.	
Vendor's City & State:					Orlando	o, FL	Orlando, FL	
		OUC WATE	ER MAIN	N ITEM	S			
57	Mobilization, Demobilization, Bonds and Permits	W1	1	LS	\$110,000.00	\$110,000.00	\$50,000.00	\$50,000.00
58	Project As-Built Survey	W2	1	LS	\$7,500.00	\$7,500.00	\$15,000.00	\$15,000.00
	Preconstruction Audio/Visual Documentation and Construction	1440			*			^
59	Photographs	W3	1	LS	\$1,350.88	\$1,350.88	\$2,500.00	\$2,500.00
60	Orange County Right of Way Utilization Permit	W4	1	AL	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
61	Maintenance of Traffic	W5	1	LS	\$30,000.00	\$30,000.00	\$60,000.00	\$60,000.00
62	Utility Support and/or Protect	W6	1	LS	\$8,105.27	\$8,105.27	\$35,000.00	\$35,000.00
63	2" PVC Water Main with Fittings & Restrained Joints- Parramore Ave	W7	145	LF	\$17.92	\$2,598.40	\$30.00	\$4,350.00
64	6" DI Water Main with Fittings & Restrained Joints- Gore Street	W8	85	LF	\$52.33	\$4,448.05	\$50.00	\$4,250.00
65	6" DI Water Main with Fittings & Restrained Joints- Parramore Avenue	W9	365	LF	\$44.49	\$16,238.85	\$50.00	\$18,250.00
66	8" DI Water Main with Fittings & Restrained Joints- Gore Street	W10	75	LF	\$64.08	\$4,806.00	\$70.00	\$5,250.00
67	12" DI Water Main with Fittings & Restrained Joints	W11	2,273	LF	\$67.02	\$152,336.46	\$100.00	\$227,300.00
68	20" Tapping Sleeve and Valve Assembly	W12	1	EA	\$9,068.71	\$9,068.71	\$16,000.00	\$16,000.00
69	12" Tapping Sleeve and Valve Assembly	W13	3	ΕA	\$7,567.34	\$22,702.02	\$12,000.00	\$36,000.00
70	8" Tapping Sleeve and Valve Assembly	W14	1	EA	\$5,491.92	\$5,491.92	\$7,500.00	\$7,500.00
71	6" Tapping Sleeve and Valve Assembly	W15	2	EA	\$4,133.78	\$8,267.56	\$6,900.00	\$13,800.00
72	Cut-in Connection to Existing 2" GS Water Main	W16	3	EA	\$561.99	\$1,685.97	\$400.00	\$1,200.00
73	Cut-in Connection to Existing 6" CI Water Main	W17	4	EA	\$1,151.13	\$4,604.52	\$400.00	\$1,600.00
74	12" Line Stop	W18	3	EA	\$11,925.45	\$35,776.35	\$16,000.00	\$48,000.00
75	8" Line Stop	W19	1	EA	\$7,567.49	\$7,567.49	\$14,000.00	\$14,000.00
76	6" Line Stop	W20	1	EA	\$5,962.58	\$5,962.58	\$9,500.00	\$9,500.00
77	12" Gate Valves with Box	W21	7	EA	\$2,583.80	\$18,086.60	\$4,500.00	\$31,500.00
78	6" Gate Valves with Box	W22	8	EA	\$1,082.78	\$8,662.24	\$1,500.00	\$12,000.00
79	Fire Hydrant Assembly	W23	5	EA	\$4,428.67	\$22,143.35	\$5,200.00	\$26,000.00
80	Long Side Water Service Connections (1" service)	W24	8	EA	\$1,112.47	\$8,899.76	\$2,800.00	\$22,400.00
81	Long Side Water Service Connections (1" service)	W25	2	EA	\$1,706.67	\$3,413.34	\$4,300.00	\$8,600.00
82	Short Side Water Service Connections (1" service)	W26	16	EA	\$674.48	\$10,791.68	\$1,000.00	\$16,000.00
83	Short Side Water Service Connections (1' service) Short Side Water Service Connections (2" service)	W27	1	EA	\$1,684.70	\$1,684.70	\$2,000.00	\$2,000.00
84	Remove Existing 12" CI Water Main	W28	2,333	LF	\$1,664.70	\$1,884.70	\$2,000.00	\$2,000.00
	· ·	W29	959	SY				
85	Concrete Sidewalk Removal and Replacement	VV 29	959	٥٢	\$100.00	\$95,900.00	\$60.00	\$57,540.00

CITY OF ORLANDO SEALED BID TABULATION

Purchasing Agent: Silvia Coste

Vendor's Name					Jordan Brothers Construction, LLC		Prime Construction Group, Inc.	
Vendo	r's City & State:				Orland	o, FL	Orla	ando, FL
86	Concrete Curb and Gutter Removal and Replacement	W30	2,020	LF	\$32.59	\$65,831.80	\$40.00	\$80,800.00
87	Concrete Driveway Removal and Replacement (6" Thick)	W31	6	EA	\$3,000.00	\$18,000.00	\$1,500.00	\$9,000.00
88	Asphalt Removal and Replacement	W32	2,223	SY	\$61.00	\$135,603.00	\$60.00	\$133,380.00
89	Remove and Reinstall Pavers (Gore @ Westmorland)	W33	65	SF	\$20.00	\$1,300.00	\$50.00	\$3,250.00
90	15" RCP Stormwater Removal and Replacement	W34	12	LF	\$125.00	\$1,500.00	\$60.00	\$720.00
91	48" RCP Stormwater Removal and Replacement	W35	12	LF	\$370.06	\$4,440.72	\$225.00	\$2,700.00
92	Pavement Striping and Traffic Signalization Loops	W36	1	LS	\$41,332.74	\$41,332.74	\$40,000.00	\$40,000.00
93	Construct Public Sidewalk ADA Ramp	W37	9	EA	\$1,500.00	\$13,500.00	\$1,500.00	\$13,500.00
Calcul	ated Total for OUC Water Main Items					\$935,978.62		\$1,105,550.00
Calcul	ated Grand Total (Items 1-93)	Vend	or Total	ı	\$3,316,559.90	\$3,318,059.99	\$3,997,940.00	\$3,999,440.00
	ated Grand Total (Items 1-93) rm (00300-7) Signed:	Vend	or Tota	ı				
Bid Fo	,	Vend	or Tota	ı	\$3,316,559.90 YE YE	S		\$3,999,440.00 YES YES
Bid Fo	rm (00300-7) Signed:	Vend	or Tota	1	YE	S S		YES
Bid Fo Bid Bo Affida	rm (00300-7) Signed: nd (10% of Base Bid) (00300-8-10):	Vend	or Tota		YE:	S S S		YES
Bid Fo Bid Bo Affida Affida	rm (00300-7) Signed: ind (10% of Base Bid) (00300-8-10): rit of Non-Collusion (00310-1)	Vend	or Tota	!	YE YE YE YE YE	S S S S S		YES YES YES YES YES YES
Bid Fo Bid Bo Affidat Affidat Preser Cert. o	rm (00300-7) Signed: ind (10% of Base Bid) (00300-8-10): it of Non-Collusion (00310-1) it of Present & Future Compliance MWBE (00320) it & Future Compliance Res. Contractor's (00330) if Contractor's Health Benefits Program (00340)	Vend	or Tota		YE YE YE YE YE YE	S S S S S		YES YES YES YES YES YES YES
Bid Fo Bid Bo Affida Affida Preser Cert. o Cert. o	rm (00300-7) Signed: ind (10% of Base Bid) (00300-8-10): it of Non-Collusion (00310-1) it of Present & Future Compliance MWBE (00320) it & Future Compliance Res. Contractor's (00330) if Contractor's Health Benefits Program (00340) if Contractor's Health Benefits Program (00360)	Vend	or Tota		YE YE YE YE YE YE	S S S S S S S		YES YES YES YES YES YES YES YES YES
Bid Fo Bid Bo Affidat Affidat Preser Cert. o Cert. o	rm (00300-7) Signed: ind (10% of Base Bid) (00300-8-10): it of Non-Collusion (00310-1) it of Present & Future Compliance MWBE (00320) it & Future Compliance Res. Contractor's (00330) if Contractor's Health Benefits Program (00340) if Contractor's Health Benefits Program (00360) onaire (00420)	Vend	or Tota		YE YE YE YE YE YE YE	S S S S S S S S S S S S S S S S S S S		YES
Bid Fo Bid Bo Affidat Affidat Preser Cert. o Cert. o Questi Vetera	rm (00300-7) Signed: ind (10% of Base Bid) (00300-8-10): it of Non-Collusion (00310-1) it of Present & Future Compliance MWBE (00320) it & Future Compliance Res. Contractor's (00330) if Contractor's Health Benefits Program (00340) if Contractor's Health Benefits Program (00360) in Business Enterprise Form	Vend	or Tota		YE YE YE YE YE YE YE	S S S S S S S S S S S S S S S S S S S		YES
Bid Fo Bid Bo Affidat Affidat Preser Cert. o Cert. o Questi Vetera M/WBI	rm (00300-7) Signed: ind (10% of Base Bid) (00300-8-10): it of Non-Collusion (00310-1) it of Present & Future Compliance MWBE (00320) it & Future Compliance Res. Contractor's (00330) if Contractor's Health Benefits Program (00340) if Contractor's Health Benefits Program (00360) onaire (00420)	Vend	or Tota		YE YE YE YE YE YE YE	S S S S S S S S S S S S S S S S S S S		YES